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ZkousSkova pisemka — 2006-01-12

1. Prickaosméruw:
p=[223]+ (- 32))
a=[321]+((2-13))

w=(23-1)
2. Soustavou nerovnosti popsat konvexni obal:
a = [4;2] a; = [2;' 2] a5 = [' 1- 1] a; = [' 2;3]
a, = [3;1] a, = [2;' 1] a5 = [1'1]
3. Konetny automat:
A d 0
0 1 0 1
1 5 4 1 1
2 6 510 1
3|7 8 | 0 1
4 1 7 0 1
5 4 1 0 1
6 3 7 1 1
7 6 4 0 1
8 5 4 1 1
9 8 3]0 1

4. Minimalni polynom 3 + zdaje primitivni:
f(x)=x*+x+1
b=1+a’+a’

5. Minimani kostra + velikost

a 4 h
5 8
€
1 3
7 2
b 1 i
4
f 3
3 6
1 2
C 3 |
6 4
1 d 5
5 8
d k
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